AQA-style exam questions.
Answer the questions by typing your answers into the red boxes.

The Aims of the ‘Big Three’
1
After the First World War, France, Britain and the USA had different attitudes towards a peace settlement.   Describe how their attitudes differed. 
[4]

     
2

America is far away, protected by the ocean.  Not even Napoleon himself could touch England.  You are both sheltered; we are not. 
Georges Clemenceau, speaking to Wilson and Lloyd George on 27 March 1919, 

after Wilson had tried to persuade Clemenceau to show ‘moderation’.

In this statement, Clemenceau gives the impression that even after the end of the war he still feared the Germans.  

Do you agree that Clemenceau was more hostile towards Germany than Lloyd George and Wilson?  

Explain your answer by referring to the purpose of the source, as well as using its content and your knowledge.
[6]
     
3
In addition to Britain’s Prime Minister, David Lloyd George:

· Georges Clemenceau and
· Woodrow Wilson,

were the two other members of the ‘Big Three’ at the Versailles Conference.  

Which of these two men, in your opinion, annoyed Lloyd George most? 

You must refer to both leaders when explaining your answer.
[10]

     
